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������������ !"#$%&#'�� $()*+,-.$)/$0+-,1-234),1$),$5.623+42-.$0627,).)89$:$;).<=$:$>)<?$@$A*BB6+$?C=CDD $ EFGHIJKLMNO)7-B-P$Q6R-$O)+-P4-,$S-1$T)+,$4,$U1/-7-,V$U+-,$4,$=WXY<$Z6$+6264[6P$376$\<A<$-,P$O<A<$P68+661$4,$6.623+42-.$6,84,66+4,8$/+)B$U1/-7-,$],4[6+1439$)/$0627,).)89V$U+-,V$4,$=WŴ$-,P$?CCCV$+61_6234[6.9<$A4,26$?CC=V$76$7-1$T66,$-$/-2*.39$B6BT6+$)/$6.623+42-.$6,84,66+4,8$P6_-+3B6,3$4,$U1.-B42$̀R-P$],4[6+1439V$>-a-/-T-P$T+-,27<$Z6$7-1$T66,$B-,-84,8$_)S6+$6,84,66+4,8$8+)*_$14,26$?CCb<$Z41$+616-+27$4,36+6131$-+6$4,$376$-+6-1$)/$B)P6.4,8$-,P$2),3+).$)/$-2$B)3)+1$-,P$_)S6+$6.623+),42<$$$c7-.4.$Q-74B4$S-1$T)+,$4,$U1/-7-,V$U+-,V$4,$=ŴC<$Z6$+6264[6P$376$\<A2<$-,P$O<A2<$4,$6.623+42-.$6,84,66+4,8$/+)B$O-.6d@̀173-+$],4[6+1439$)/$0627,).)89V$U+-,$4,$?CCe$-,P$/+)B$U1/-7-,$],4[6+1439$)/$0627,).)89V$U+-,$4,$?CCXV$+61_6234[6.9<$A4,26$?CCXV$76$7-1$T66,$S437$376$f)S6+$5.623+),421$Q$g$h$h4[414),V$U,/)+B-34),$-,P$i)BB*,42-34),$0627,).)89$U,1343*36$jUi0UkV$U1/-7-,$],4[6+1439$)/$0627,).)89V$-1$-$+616-+276+<$Z41$+616-+27$4,36+6131$4,2.*P6$_)S6+$6.623+),421V$6.623+42-.$B-274,61V$-,P$P+4[61<$$$O-a4P$f-dP6.N+6264[6P$376$\<A<$P68+66$4,$6.623+42-.$6,84,66+4,8$/+)B$376$̀B4+d-T4+$],4[6+1439$)/$0627,).)89V$067+-,V$U+-,$4,$?CCe$-,P$376$O<A<$P68+66$4,$_)S6+$19136B1$/+)B$376$U1/-7-,$],4[6+1439$)/$0627,).)89V$U1/-7-,V$U+-,V$4,$?CCb<$Z41$+616-+27$4,36+6131$4,2.*P6$_)S6+$6.623+),421$-,P$6.623+42$B-274,61$P+4[61V$_)S6+$2),[6+36+1$2),3+).1V$/4,436$6.6B6,3V$1)/3$1S43274,8$-,P$-234[6$_)S6+$/4.36+1<$Z6$7-1$-*37)+6P$-+)*,P$b$_*T.4176P$3627,42-.$-+342.61$4,$376$+6.6[-,3$-+6-1<$$$$� ������������$����$$$$$$$$$$����$$$$$



���������	��
����
��������	���������������������
������������ !"#$%&'(��̂_̀abcde_̀]M-$4852$P.P7,W$.$-7V$2*04A2V54387L$4*P*/*9:$0*,$/*2272$,7L+345*-$5-$.$48,77AP8.27$0*+,AV5,7$28+-4$.345O7$P*V7,$05/47,$52$P,*P*27L=$187$2*04A2V54385-9$4738-5Z+7$-*4$*-/:$*007,2$.$,7L+345*-$5-$2V54385-9$/*22$.-L$487,C./$,7Z+5,7C7-4W$X+4$./2*$.//*V2$487$P*225X5/54:$*0$8598$0,7Z+7-3:$.-L$2-+XX7,/722$*P7,.45*-=$MCP,*O7L$35,3+54$P7,0*,C.-37$.-L$7005357-3:$.2$V7//$.2$,7L+345*-$*0$6fM$7C5225*-$3.-$X7$.3857O7L=$B*04A2V54387L$.345O7$P*V7,$05/47,2$3.-$X7$.$O5.X/7$./47,-.45O7$4*$8.,LA2V54387L$UgF2=$B5-37$487$2V54385-9$*0$P*V7,$2V543872$52$L*-7$+-L7,$Y<B$3*-L545*-2W$487$/*2272$52$,7L+37L$5-$487$.345O7$05/47,=$187,70*,7W$487$.PP/53.45*-$*0$2*04A2V54385-9$4738-5Z+72$3.+272$8598$7005357-3:$.-L$P*V7,$L7-254:$5-$.345O7$P*V7,$05/47,2=$187$25C+/.45*-$,72+/42$V548$487$L7259-7L$2*04A2V54387L$BUgF$28*V$48.4$487$P,*P*27L$4*P*/*9:$.-L$3*-4,*/$24,.479:$52$O7,:$7007345O7$5-$8.,C*-53$3+,,7-4$3*CP7-2.45*-$*0$,7345057,$V548$3.P.3545O7$*,$5-L+345O7$/*.L2=$U/2*W$54$3.-$3*CP7-2.47$8.,C*-53$3+,,7-42$*0$*487,$-*-A/5-7.,$/*.L2=$1852$3*-4,*/$C748*L$5CP,*O72$487$P*V7,$0.34*,$*0$2+PP/:$25L7$7007345O7/:=$187$L7259-7L$2*04A2V54387L$BUgF$.-L$542$3*-4,*/$24,.479:$3.-$X7$5CP/7C7-47L$V548$/*V7,$3*24$5-$P,.34537$.-L$54$8.2$85987,$7005357-3:=$$ hijikìaid]l>m$R=$B87-W$g=n=$K78-W$oF5p7LA0,7Z+7-3:$2P.37AO734*,AC*L+/.45*-$3*-4,*/$0*,$48,77AP8.27$0*+,A/79$.345O7$P*V7,$05/47,2oW$M66$g,*3A6/734=$g*V=$UPP/=W$<*/=>qQW$?*=qW$)+/:$@DD@=$l@m$n=$r*-9W$B=$B*-98+.W$S=$r+W$oB4+L:$*-$487$48,77AP8.27$0*+,A/792$.345O7$05/47,$X.27L$*-$*-7A3:3/7$3*-4,*/oW$M666$g,*3AMS6fBW$<*/=@W$PP=>sD>A>sDqW$B7P=$@DDt=$lsm$g=$<7,L7/8*W$u=R=$f.,Z+72W$oF*+,AV5,7$3+,,7-4A,79+/.47L$gnf$O*/4.97$3*-O7,47,oW$M666$1,.-2=$M-L=$6/734=W$<*/=qtW$PP=Hv>AHHDW$>QQN=$lqm$1=$18*C.2W$w=$x.LL.LW$u=$)**2W$U=$)..0.,5W$og7,0*,C.-37$7O./+.45*-$*0$48,77$P8.27$.-L$0*+,$V5,7$.345O7$05/47,2oW$S*-0=$y73=$*0$487$M666$MUB$U--=$f774=W$B.-$R579*W$SUW$zBUW$PP=>D>vA>D@sW$>QQv=$ltm$S=U=${+5--W$?=$f*8.-W$oU345O7$05/47,5-9$*0$8.,C*-53$3+,,7-42$5-$48,77AP8.27$0*+,AV5,7$2:247C$V548$48,77AP8.27$.-L$25-9/7AP8.27$-*-/5-7.,$/*.L2oW$g,*3=$*0$M666$Ug6SQ@W$|*24*-W$f.22.38+27442W$zBUW$PP=N@QANsvW$>QQ@=$lvm$r=S=$)+-9W$)=u=$S8*W$u=x=$S8*W$oU$-7V$}7,*$O*/4.97$2V54385-9$,72*-.-4$L3A/5-T$5-O7,47,$V548$/*V$O*/4.97$24,722oW$g,*3=$M666$M-L+=$6/73=$S*-0=W$PP=sDNAs>sW$>QQ>=$$lHm$x=$UT.95W$r=$T.-}.V.W$U=$?.X.7W$oM-24.-4.-7*+2$,7.345O7$P*V7,$3*CP7-2.4*,2$3*CP,525-9$2V54385-9$L7O5372$V548*+4$7-7,9:$3*CP*-7-42oW$M666$1,.-2=$M-L=$UPP/=W$MUA@DGsIW$PP=v@tAvsDW$>QNq=�$ $$$$$$$$$$
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